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EECS-130
Integrated Circuit Devices
Midterm Exam #2, part one Solutions
(35% total point weighting)

March 14, 1996
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c. The current supplied by forward biasing the p, is that needed to replenish minority charge being lost due
to recombination.

LoeT? DoT?
Current increases as temperature increases
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~ (injected)

file:///C|/Documents%20and%20Setti ngs/Jason%20Raft...0-%20Fal | %6201996%20-%20B okor%20-%20Mi dterm%202.htm (2 of 2)1/27/2007 4:21:55 PM



	Local Disk
	file:///C|/Documents%20and%20Settings/Jason%20Raftery/My%20Documents/UC%20Berkeley/RCSA/RCSA%20exams/DANIEL%20HKN%20TESTS/ALL%20HTML%20TESTS/Electrical%20Engineering%20130%20-%20Fall%201996%20-%20Bokor%20-%20Midterm%202.htm


